
@ Form: An = Ana, + d a, = a

E

diverene
s t a r t  v a l u e

(seed )

? For amy pair of did we get a unique
sequence.

l e t  a = ( 2  a n d  d  = 3

? On = Am, + 3,d,  =2

a .  -  seed  =2
n=< 02=92, +3-0,+3=2+3=5
1=303=02+3 = 5+3=8
n=4@y=9373=873=11

{ any  =52 ,5 ,811 ?' .

+ 3 + 3 +3 = The behavior of an anthmeti s

*  g e n e r a l  t e r m ,  h i t h  t e r m ;
servence

a n  = a t  ( n . ) d
a=a, = seed
d= commos

difference



(2)non-arithmetic seg. (by contrast)
Analyze
24, 16, 64,256, 1024, ...

I Hon do Iget from 4t016? S+208-

? How do Iget Som 161064? 59+48.- OR -

? HowdoIget Som 6446256? 74
*46+192

Q: Is this arithmetic? No we are not addity
a common differace.

-11.3
EBTW.: this sequence is a geometric seguence since an

are multiplying by a constant ratio, 4 7

EX 11.4 9 33251,30, "S Find the gen. term
-2.1-21 -2.1 ?Arithmetic

recusive form a d = - 2 . 1
An= an-i+d a gene al tem
An=An- -2.1 An=A, +(n-i)d

An= 11.4 11.4+(n-r)(-2.1)

An= 11.4-2.1 n-1)



Ex Revisit 1 'exaall, write gen. term (2)

EX Find the 24th term it the segmence
£3, 0,3,6, ... 7 strategy: get the

gen. term/st

Cil determine a id
a = - 3 , $ d = 3

(ii) genoal teran:
an =a+(n-i)d=-3+(n-1)3

(ici) compute: 924=-3+(24-1)3
=-3+(2313

=-3+69
924 =166).



@ C.S.I. problems
a: How do we build determine a sequence

given two members of the seguence
and told that the sequence is arither.

EXII f  a,=17 and A,=-31 Find Aro

? general terman:an=a+(na)d Earithmeticform

a = a , 50 a=17 - Startterm

so then there-
formbecomes an =17 +(ni)ä)

what  is
d = ?

? use the last piece of info: ar:=31

?97=17+(7-1)d

- 31=17 + 6d 2 solve for'd"
=31-17=d

c = 6  =  - 8=
?geneal term. An =17 +(n-1)(-8)

a n s w e r :therestion 20=17-8(20-1) =17-8-1951-135



Not a, like in the lasted?
EX W r i t e  t h e  I s t 13 terms of an arithmetic

squence i f 9,3=-60 and A33=-160

geneal term: An= a  +(n- I )d
regns

? n=13: 9,3 = A+(13-1)d? -60=a+12d
? h =33: A33 = At (33-1)d? -160=a+32d

ZunknownsSolve a + 12d=-60
a + 3 2 d  = - 1 6 0 * - 1

- L0d =100 d = - 5*

i n s e t  i n t  t o p  e g n

9  + 1 2 6 - 5 1 5 - 6 0 a = 0

o Gusial term:
(an= -5 (n-)

? answer question: a, = 0
a 2 = - 5

3= -10

{0, -5, -10, **., - 5(n-),.. ]



* Finally, recursive formula...
Ext use the given recursive farmula to write

the first four terms; 69,=39 ad=-3
An=An-, -3

In non-recursive fork
{39,36,33,30,27, 3

an =39-31n-1)
-=3

write a recursive relation it 1-15=23,
a, = -15, An= An. + 8) +8+8 d = 8

seed explicit geneal term

Altenatively an =-15+8 (1-1) /
converth

yensaterm 111.2 is finnished)


